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2. 
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         Za a) je správně                                                   
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                          Za d) je správně 
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7.          
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                                                      Za a) je správně 

8. 
Platí vztah: 
  as = at + (s – t) ⋅ d 
a10 = a4 + 6d 
28 = 10 + 6d  ⇒    6d = 18  ⇒  d = 3 
a7 = a4 + 3d = 10 + 9 = 19 
                                Za c) je správně 

9. 
Definiční vztah pro logaritmus: 
          logau = v   ⇔  av = u 
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                                              Za a) je správně                         
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                                     Za e) je správně 

11.  
      Použijeme: cos2x = cos2x – sin2x 
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12.  
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13. 
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                                        Za b) je správně 

14. 
Nejprve substituci:   11x = y 
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                         Za c) je správně 

11 ;11 0;1x x∈ ⇒ ∈

15. 
k1 :  x2 + y2 + 8x – 14y + 49 = 0 
      (x2 + 8x + 16) – 16 +(y2 – 14y + 49) – 49 + 49 = 0 
      (x + 4)2 + (y – 7)2 = 16 
           S1[– 4; 7] 
 
k2 : x2 + y2 + 12x + 16y + 91 = 0 
      (x2 + 12x + 36) – 36 +(y2 + 16y + 64) – 64+ 91 = 0 
      (x + 6)2 + (y + 8)2 = 9 
           S [– 6; – 8]  2
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                                                           Za a) je správně 
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